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Fig. 2.The Wr/Vr graphs for plant height.
Fig.1. The graph of Wr and Vr for days to 50% flowering
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Fig. 3a. The We/Vr graphs for firt fruting node on the main tem. Fig. 3b.The W1/Vr graphs for first fruiting node on the main stem
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Fig. 4a. The Wr/Vr graphs for number of branches/plant

Fig. 4b. The Wt/Vr graphs for number of branches/plant
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Fig. 5. The Wr/Vr graphs for number of pods/plant.
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Fig. 6a. The Wr/Vr graphs for number of sceds/pod.
Fig. 6h. The Wt/ Vr graphs for number of seeds/pod.
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Fig. 7a. Thc Wi/Vr graphs for 100 sced weig nt
Fig. 7 b. The Wr/Vr graphs for 100 seed weight/plant.
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Fig 8a.Thc Wr/Vr graph

plantyield Fig 8b.The Wr/Vr graphs for plant yield.



